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Question Number : 1 Question Id : 973597594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following characteristics makes a computer to perform completely different types of tasks at the same
time?

Options:

| » Reliability

- u Diligence

5 o versatility

4 8 Accuracy

Question Number : 1 Question Id : 973597594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 973597595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following input/output devices produces high-quality graphics or drawings using ink pens?
Options:

1 % Scanner

> # OCR
= % Laser Printer
4 « Plotter

Question Number : 2 Question Id : 973597595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 3 Question Id : 973597596 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a valid category of computer system Bus?

Options:

1 « Character Bus
-~ % Data Bus

= % Address Bus

4 # Control Bus

Question Number : 3 Question Id : 973597596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 4 Question Id : 973597597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statement is FALSE?

Options:

1 % The number of bits in a word is called word size

- % The size of important CPU registers is same as the word size

= « The word size of a CPU cannot be more than 32 bits

, % Word size refers to the number of bits processed by the CPU in one go

Question Number : 4 Question Id : 973597597 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 5 Question Id : 973597598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT an auxiliary memory?

Options:
1 « SRAM

- % Hard Disk
2 ® DVD
4 » Blu-Ray Disk

Question Number : 5 Question Id : 973597598 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fofafla & @ #iq o s a3 a8 2
Options:

1 v SRAM

o x TS BFF
3 ® DVD
= T

4 %

Question Number : 6 Question Id : 973597599 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following output devices is noisy, slow and able to print only low-resolution graphics with limited
colour?

Options:

, w Laser printer

-  Dot-Matrix printer
z % Plotter

4 ® VDU

Question Number : 6 Question Id : 973597599 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 973597600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements about the Flatbed Plotter is TRUE?

Options:
, w The Flatbed Plotter has a vertical flat surface on which a paper is fixed

-  InFlatbed Plotter. paper remains stationary and the pen is mounted on a moving carriage
- » InFlatbed Plotter. pen remains stationary and the paper is mounted on a moving carriage

4 % The Flatbed Plotter has a drum that rotates back and forth to move the paper

Question Number : 7 Question Id : 973597600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 8 Question Id : 973597601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The largest memory address that can be stored in a Memory Address Register (MAR) of 16 bits is:

Options:
| % 32767

> « 65535
5 % 65536
4 % 32768

Question Number : 8 Question Id : 973597601 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 9 Question Id : 973597602 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is used to translate high-level language programs into machine codes?
Options:

1 % Assembler

o  Compiler

5 % Interpreter

4 % Loader

Question Number : 9 Question Id : 973597602 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 10 Question Id : 973597603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a multiuser and multi-tasking operating system?

Options:
, « UNIX

> Windows XP
= % Windows 7
4+ % DOS

®

®

Question Number : 10 Question Id : 973597603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 11 Question Id : 973597604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following utility software detects scattered file contents and move them together to increase efficiency?

Options:
1 # Windows Firewall

-  Disk Defragmenter

5 % Disk Cleaner

4 » File Manager

Question Number : 11 Question Id : 973597604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT 7 @ #id T gt giream, Thes vEd Feecy & 5eae Far § R FEesar &
T F T 378 THE-ATY F AT R

Options:

| % @EE R

. v B35 SRTAT

Question Number : 12 Question Id : 973597605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following Windows feature allows the users to revert their computer's state (including
installed applications and system settings) to that of a previous state?

Options:

1 System Restore

5 % System Restart
z # OLE

4 » Creation of multiple user accounts

Question Number : 12 Question Id : 973597605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 973597606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is an alternate representation of the storage capacity of a 64 TB memory?

Options:
| « 65536 GB

> % 65536 MB
5 % 32768 MB
4 % 32768 KB

Question Number : 13 Question Id : 973597606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. » 65536 GB
. % 65536 MB
- = 32768 MB
, = 32768 KB

Question Number : 14 Question Id : 973597607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Consider a Hard Disk consisting of 10 recording surfaces. If each surface is divided into 16 tracks, each track
is divided into 8 sectors and each sector consists of 4 blocks of 512 bytes each. then the total number of
cylinders is:

Options:
1 ® 4
o B &
T R 10

4.+ 16

Question Number : 14 Question Id : 973597607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A ifer & v g2 fBrF 10 Rerifeer aagt @ fAeet s 21 Ifg 93« Tag 16 & & a7 9+
¢F 8 BFX F ReNlo & 3N 5% dFT F 4 F @ TA ¥ TedH e 512 FST H @ A I
foeizd $r gwar g1t

Options:

1%&4




2%-38

4 v 16

Question Number : 15 Question Id : 973597608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to file system, NTFS stands for:

Options:

, « New Technology File System

> % New TCP File System
- % Network File System

4 ® New Traffic File System

Question Number : 15 Question Id : 973597608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 16 Question Id : 973597609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
After maximizing a window, the ‘maximize’ button is changed into button.

Options:
1 #% Minimize
> % Close

5 w Split

4 « Restore

Question Number : 16 Question Id : 973597609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 973597610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The process of bringing up the operating system into memory is called:
Options:

, % Resuming

-  Booting

- % Downloading

4 % Restoring

Question Number : 17 Question Id : 973597610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 973597611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is a system tool in DOS and Windows that verifies the file system integrity of a volume and
fixes logical file system errors?

Options:

1 % CheckDisk
> % CHKDisc
3 « CHKDSK
4 % DSKCHK

Question Number : 18 Question Id : 973597611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ferfataa & & DOS 3k f=er &1 77 s ool #ia @ § & U aiegn 1 wiee A s
T S AT & AN Alferhd Bsd WEed WH & 8 Far 272

Options:



1 # CheckDisk
- % CHKDisc
z « CHKDSK
4 % DSKCHK

Question Number : 19 Question Id : 973597612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT a valid IP address?

Options:
1 % 15.10.10.5

5 % 250.255.10.10
5 ¢ 129.256.5.1
4 % 190.250.250.10

Question Number : 19 Question Id : 973597612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

. % 15.10.10.5
.  250.255.10.10
- v 129.256.5.1

., = 190.250.250.10

Question Number : 20 Question Id : 973597613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following puts your open documents and programs on your hard disk and then turns off your computer?

Options:
1 +« Hibernation

- % Sleep
3 # Lock

4 % Switch user

Question Number : 20 Question Id : 973597613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 973597614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A special window which requires input from the user before proceeding is called:

Options:
, « Dialog Box

-~ » Popup List
3 # List Box

4 % Radio Button

Question Number : 21 Question Id : 973597614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 973597615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Which of the following covertly gathers user information through the user's Internet connection. usually for advertising
purposes?

Options:
1 % Virus
- % Phishing attack

5 Spyware

4 % Worm

Question Number : 22 Question Id : 973597615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 973597616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following Control Panel items can be used to change the theme and desktop background?

Options:
| % Programs

- % System and Security
5  Appearance and Personalization

4 % Clock, Language and Region

Question Number : 23 Question Id : 973597616 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 24 Question Id : 973597617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following Windows Administrative tools starts, stops. and configures Windows services?

Options:
1 « Services
> % Performance Monitor

5 % Computer Management

4 # Task Scheduler

Question Number : 24 Question Id : 973597617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 25 Question Id : 973597618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The resolution of graphics monitors signifies the number of on the entire screen.

Options:
1 % Horizontal lines

o « Dots (pixels)

% % Vertical lines
, # Diagonal lines

Question Number : 25 Question Id : 973597618 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 26 Question Id : 973597619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Shortcut key to launch InPrivate Browsing using Internet Explorer is:

Options:

1 ® Ctrl +Shift +1
> % Ctrl+1

2 o Cirl+ Shift +P
4 % Alt+Cul+P

Question Number : 26 Question Id : 973597619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:




. % Ctrl + Shift + |
, % Ctrl+1

- « Ctrl + Shift+ P
L # Alt+Ctrl+ P

Question Number : 27 Question Id : 973597620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
While searching a file through pattern matching. the wild card character *?” stands for:

Options:
1 ® Two or more characters
> B Omne or more characters

o & Zero or more characters

4  Asingle character

Question Number : 27 Question Id : 973597620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 973597621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to file system. the full-form of PDF is:

Options:
| % Primary Document Format

> w Primary Data File

= % Practical Data File
4 « Portable Document Format

Question Number : 28 Question Id : 973597621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 29 Question Id : 973597622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following file formats can be used to send a folder containing multiple files, as a single file attachment
through e-mail?

Options:
1 ® PS

> % PDF
5  ZIP
4 % MPEG

Question Number : 29 Question Id : 973597622 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

» % PDF

2 o ZIP

. # MPEG

Question Number : 30 Question Id : 973597623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a correct match for the file search query File*Name.pdf?

Options:
, w FileName.pdf

> % FilelName.pdf
-  FileNamel.pdf

4 w FilelZName.pdf

Question Number : 30 Question Id : 973597623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, = FileName.pdf

-, » File1Name.pdf
5  FileName1.pdf
4 » File12Name.pdf

Question Number : 31 Question Id : 973597624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Folders and Files in a Windows system are organized into structure.

Options:
1 # Linear
~ « Tree

5 % Directed Graph

4 % Undirected Graph

Question Number : 31 Question Id : 973597624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Question Number : 32 Question Id : 973597625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following categories of files can be encrypted in Windows Encrypted File System (EFS)?

Options:
1 % Root directories

> % System files

5  Sparse files

4 w Compressed files

Question Number : 32 Question Id : 973597625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 973597626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

To end a paragraph in MS-Word. press key.
Options:

1 ® Esc

~ « Enter
% Tab

4 % Spacebar

Question Number : 33 Question Id : 973597626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
= Ese

> « Enter
z ® Tab

4 % Spacebar

Question Number : 34 Question Id : 973597627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following categories of text alignment aligns texts to both left and right margins?

Options:
1 ® Left

» % Right
= % Centre

4 o Justify

Question Number : 34 Question Id : 973597627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 35 Question Id : 973597628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Shorteut key to open a new document is:

Options:
| & Ctril+N

oo® Alt +N
= R A+ Cul+F
4 % Ctl+F

Question Number : 35 Question Id : 973597628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

.« Ctrl+N

> % Alt+ N

o % Alt + Ctrl+ F

4 % Ctl+F

Question Number : 36 Question Id : 973597629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Clicking simultaneously three times in a paragraph will select:

Options:
| « Thewhole paragraph

- % [Ihe first word of the paragraph
- % Ihe first sentence of the paragraph

4 % The last sentence of the paragraph

Question Number : 36 Question Id : 973597629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 37 Question Id : 973597630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statements about Word Table 1s FALSE?

Options:

, w Atable may have odd number of rows and even number of columns

- % A table may have even number of rows and odd number of columns

5 # Iwo consecutive horizontal or vertical cells of a table can be merged

4  Two diagonal cells of a table can be merged

Question Number : 37 Question Id : 973597630 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 38 Question Id : 973597631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a correct relationship between the Point and Inch?

Options:
1 « 1 Point=1/72 Inch

> % 1 Point = 1/18 Inch
= % 12 Points =1 Inch

4 # 36 Points =1 Inch

Question Number : 38 Question Id : 973597631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:



L » 1TEE =172 5=
, « 1978 =1/18
5w 127%eE =1 8
, % 3B TEH =157

Question Number : 39 Question Id : 973597632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
OpenOffice Calc is an example of:

Options:

1 Spreadsheet

5 ® Word processor

= % Presentation software

4 # Database

Question Number : 39 Question Id : 973597632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

AT FoeF, FT TF 3STEI0T 2
Options:
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5 % TSI HIFEII
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Question Number : 40 Question Id : 973597633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following features is generally used to create labels that span multiple columns?

Options:
| % Wrap Text

5 of Merge & Center

=z % Text Direction
4 % Shrink to Fit

Question Number : 40 Question Id : 973597633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 41 Question Id : 973597634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Assuming numeric values in the cells Al and A2 as 10 and 15 respectively. the value of the Excel expression
=[F{A1-A2, “A”, “B") is:

Options:
1 ® -5

2&35
2 ¢ A
4.53:8

Question Number : 41 Question Id : 973597634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT e f der A1 3T A2 & Faen 10 3T 15 g&aTcHs A g,
TFOe THSIOT =IF(A1-A2, “A”, “B”) T HIT gIe:

Options:

1 % -5
5 % D
3¢ A
4 % B

Question Number : 42 Question Id : 973597635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Press key to cancel the value of a cell being edited.

Options:
1 % Enter

> % Tab
= o E5C
4 % Ctrl

Question Number : 42 Question Id : 973597635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 # Enter

> ® Tab
= « ESsc
4 ® Ctrl

Question Number : 43 Question Id : 973597636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The display value of a cell containing the Excel expression =10-10/2+8 is:
Options:

1 ® 0

o B o

z ® 10

4+ 13

Question Number : 43 Question Id : 973597636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e &5 7 & 710 veae AT =10-10/2+8 T 3Feel AT &R
Options:
1 % 0
> % 9
= % 10

4 ¢ 13

Question Number : 44 Question Id : 973597637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Assuming the contents of the cells Al. Bl. and C1 as 16. 8 and 2 respectively. the display value of the cell containing
the formula =SAS1/$SBS1/$CS1 is:

Options:

1. ¢ 1

> % 4

s % #DIV/O!
4 % #VALUE!

Question Number : 44 Question Id : 973597637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:



1. ¢ 1

> % 4

- = #DIV/O!
. & H#VALUE!

Question Number : 45 Question Id : 973597638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
For sorting Excel data, which of the following is NOT a valid option for “Sort on™ field in the “Sort” window?

Options:
1 # Values

Cell Colour

®

3
Font Colour

o

=
4 & Cell Width

Question Number : 45 Question Id : 973597638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Er2e )

1 ® CN

> % Tel Tl
2 % i HoR
, b =y

4.

Question Number : 46 Question Id : 973597639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following Excel tools can be used if you know the result, but you are not sure what input values will be
required in the formula to get that result?

Options:
| % Scenario Manager

> « Goal Seek
= % Data Table
4 # Data Validation

Question Number : 46 Question Id : 973597639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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5 % ST Tl
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Question Number : 47 Question Id : 973597640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Total number of layers in OSI Reference Model is:

Options:
1 ® 4

o ® 3

-1

c B g
4 % 9

Question Number : 47 Question Id : 973597640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
0S| ReF=g Al F Faor fohedell 7T el 22
Options:
1 % 4
5 % D
3.4 7/
4 % 9

Question Number : 48 Question Id : 973597641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to Computer Network, the full-form of VPN is:

Options:
1 « Virtual Private Network

> % Virtual Public Network
= % Virtual Path Name

4 % Volatile Path Name

Question Number : 48 Question Id : 973597641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 49 Question Id : 973597642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a Web Search Engine developed by Microsoft?

Options:

1 % Yahoo!
- % Altavista
5  Bing

4 = Google

Question Number : 49 Question Id : 973597642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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3 v &
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Question Number : 50 Question Id : 973597643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which of the following network topologies, all workstations are connected to a single cable?

Options:
1 « Bus
> ® Mesh

o ® Rlllg

4 % Star

Question Number : 50 Question Id : 973597643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1.« SH
o % FHer
2 % T
4 ® T

Question Number : 51 Question Id : 973597644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following controls frame synchronization, flow control and error
checking?

Options:

, » Media Access Control (MAC) layer

-  Logical Link Control (LLC) layer

5 % Iransport layer

4 w Network layer

Question Number : 51 Question Id : 973597644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
f=af@a & ¥ #i7 a1 v7 GFEeE, T Fara 3T W AT F e :ar &7
Options:
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Question Number : 52 Question Id : 973597645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a Class-C IP address?

Options:
; ® 101.255.10.1

> « 192.15.10.1
5 % 190.200.10.5
4 % 165.100.10.5

Question Number : 52 Question Id : 973597645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % 101.255.10.1

> « 192.15.10.1
. % 190.200.10.5
4 % 165.100.10.5

READING COMPREHEMNSION

Section Id : 97359798

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questions to be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 97359798
Question Shuffling Allowed : Yes

Question Id : 973597646 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension



Read the following passage and answer the gquestions given
after it.

Madame Marie Curie was one of first woman scientists and one
of the great scientists of the 20 century. She discovered radium
and paved the way to nuclear physics and cancer therapy.
Madame Curie was born in 1867 in Warsaw, Poland. Marie went
to Paris, France, to study physics, mathematics and chemistry,
where she met Pierre Curie, who was a professor in the School of
Physics. They were married in 1895. She received her Doctor of
Science Degree and after Pierre Curie’s death, she became the
first woman Professor of General Physics in the Faculty of
Sciences.

Handling minerals, Madame Curie noticed that Thorium was
radioactive. Pierre had tested radium on his skin, which caused a
burn. They realized radium’s effect on humans and Madame
Curie and Pierre Curie won the Nobel Prize for Physics in 1903
for their study of radium. Madame Curie also received the Nobel
Prize for Chemistry in 1911 for her study of radioactivity.

Madame Curie had to fight prejudices of her time. When in 1910
Madame Curies competed for the membership of the Academy of
Sciences, it was an all-male society. In 1911 Madame Curie lost
her bid for membership in the Academy of Sciences. She was
furious and never tried to join again. It was not until 1979 that the
Academy of sciences could accept a woman.

After having been exposed, in her research, to incredible levels of
radiation, Madame Curie developed leukemia and died on 4 July
1934 in France. Madame Curie was the only woman laid to rest
alongside Victor Hugo and other great figures under the famous
dome of the Pantheon in Paris for her own merits.

Sub questions

Question Number : 53 Question Id : 973597647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where was Marie Curie born?
Options:

1 % France

> « Poland

- » England

4 % Germany

Question Number : 54 Question Id : 973597648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



In which year were Marie Curie and Pierre awarded
the Nobel Prize for Physics?

Options:

1 ® 1911

> % 1910

3 « 1903

4 % 1895

Question Number : 55 Question Id : 973597649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Why couldn’t Marie Curie get the membership of
the Academy of Sciences?

Options:

. % She did not have the requisite qualification.

The Academy of Sciences did not admit women
5 « as members.

5 % She did not try very hard.

4 % Her husband was not in favour.

Question Number : 56 Question Id : 973597650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
From the passage one can infer that in those days:

Options:
1 & IIICIl WEI'e 1mMore meritorious than women.

» % mnen and women were considered as equals.
5 % Wwomen were respected more than men.

4  en were more privileged than women.

Question Number : 57 Question Id : 973597651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Marie Curie died of leukemia because:
Options:

, % she had been working very hard.

o  She excessively exposed herself to radiation.
- % she did not take adequate care of her health.

4 % she did not have immunity.

Question Id : 973597646 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
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Question Number : 53 Question Id : 973597647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 54 Question Id : 973597648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Few Fgir R Ty Fgl & sifadr &7
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Options:

% 1911
. % 1910
- » 1903
. % 1895

Question Number : 55 Question Id : 973597649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 56 Question Id : 973597650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 57 Question Id : 973597651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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QUANTITATIVE AFPTITULDE
Section Id : 97359799
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 97359799
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 973597652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the average of 5. 10, 12 and x is 7 and the average of 16, 20, 25, X and vy is 13. then find the value of y.

Options:



M2
k. -
o

e
®
o

Question Number : 58 Question Id : 973597652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

afe 5, 10, 12 3R x @1 3lwa 7 33k 16, 20, 25, x 3T y & 3@a 13 §,
ar y &1 AT A1 S

Options:

1%-31

2%-32

3¢ 3

4 % 4

Question Number : 59 Question Id : 973597653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The cost price of a washing machine is 75% of its selling price. Find the profit percentage.

Options:
1« 33.33%

o R 30%
= % 25%
4 % 66.66%

Question Number : 59 Question Id : 973597653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| v 33.33%
, % 30%
2 % 25%
., = 66.66%

Question Number : 60 Question Id : 973597654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

A takes twice as much time as B to do a particular work. A takes thrice as much time to do the same work as C. If A. B
and C together finish the work in 2.5 days. then find the time taken by A to complete the work alone.

Options:

, » 1ldays



> w 12 days

5 % 13 days

4 « 15 days

Question Number : 60 Question Id : 973597654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 61 Question Id : 973597655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The ratio of present ages of two sisters is 1 : 2. Five years ago. the ratio was 1 : 3. Find the ratio of their ages after 5
years.

Options:
1 % 1:

o W

L a2
[ T I R

3 ¥

LM
o

4 B

Question Number : 61 Question Id : 973597655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1_%-31 4
o W 2 £ 3
3,,—"35
4 % B:86

Question Number : 62 Question Id : 973597656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Study the information given below and answer the questions given below it.

In a degree college. 780 students are given admission for graduation. There are 300 students in science. 175 students are
only in commerce. 65 students are in both science and commerce but not in arts. 55 students are in science and arts but
not in commerce. 70 students are in both arts and commerce but not in science. The number of conunerce students is 50
more than the number of science students.

How many students are there in arts?

Options:

1 % 420
= o 400
= % 450
4 % 390

Question Number : 62 Question Id : 973597656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 % 420

> « 400

- = 450

4 % 390

Question Number : 63 Question Id : 973597657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What would be the measure of the diagonal of square whose area is equal to 882 cm??

Options:
1 % 38cm

> % 32cm
3 " 42 cm
4 % 48 cm

Question Number : 63 Question Id : 973597657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Section Id : 973597100
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 973597100
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 973597658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the letters in the word “POLITY™ are arranged in alphabetical order. then how many letters remain in the same place?

Options:
1 % One

= o Two
3 % Three
4 % Four

Question Number : 64 Question Id : 973597658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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1?-&3@

5 e

3.%-3?'?17"

4 % E=T
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In the following question. four words have been given out of which three are alike in some manner, while the fourth one
is different.
Choose the word which is different from the rest.

Options:

1 # Kiwi
o  Eagle
= % FEmu

4 # Ostrich

Question Number : 65 Question Id : 973597659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Yash runs 4 km to the west. turns left and runs 3 km. turns right and runs 2 ki, again turns right and runs 3 km. How far
is Yash from his starting point?

Options:

1 % 4km
> % Skm
3 % 8km
4« 6km

Question Number : 66 Question Id : 973597660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 67 Question Id : 973597661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ramesh is related to his mother’s father’s son as:
Options:

1 % Father

> % Uncle

5 Nephew

4 % Brother

Question Number : 67 Question Id : 973597661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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If ‘— stands for =°, “* stands for +’. *+ stands for /* and */ stands for —’. then
40*12+3-6/60="7

Options:

1% 1

[ ]

> R

3_-&33

e

4
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1 ® 1

2-‘»&2
3%&3

4 4



Question Number : 69 Question Id : 973597663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the following question. a set of figures carrying certain numbers, is given. Assuming that the numbers in each set
follow a similar pattern, find the missing number.

: 3 u s 15

144 9801 ?
Options:
1 % 1216

> % 2250
5 « 8100
4 % 11036
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Question Number : 70 Question Id : 973597664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the famous film / T.V. star who later became the American President.
Options:

, « Ronald Regan
> % Gerald R. Ford
= % Richard Nixon

4 w J.F. Kennedy

Question Number : 70 Question Id : 973597664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
World Diabetes Day (WDD) is celebrated annually on

Options:

;| ® 14™ February

41‘11

5 % 147 September

4 « 141 November

Question Number : 71 Question Id : 973597665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 72 Question Id : 973597666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where is the Headquarter of WTO (World Trade Organization)?
Options:
| ® Vienna, Austria

5 % Paris. France
- % Bem, Switzerland

4 « Geneva, Switzerland

Question Number : 72 Question Id : 973597666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The most coveted award at the 61°" Cannes Film Festival was received by:
Options:

, = Hunger

» % Line of Passage

% « The Class
4 % Three Monkeys
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Wankhede Stadium is situated in which city?
Options:

, w Chandigarh
> % Madras

= « Mumbai

4 » Bangalore
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Which one of the following books was written by Bal Gangadhar Tilak?

Options:

1 # India in Transition

-  Gita Rahasya

5 » Gokhale-My Political Guru

4, % Discovery of India
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The Centre has done well to appoint the World Banlk's water and sanitation specialist, Parameshwaran Iyver, as
the new secretary of its drinking water and sanitation department. In the World Bank, everyone calls this
program manager and lead water and sanitation specialist as Pararn, a 1981 batch [AS. [t 1S also expected that
this appointment may encourage many other former [AS officers currently specializing in key sectors such as
health, infrastructure, finance, banking etc. either in India or abroad, to explore a second innings in the
corridors. Ditto for the Delhi government that has given PWD engineer-in-chief Sarvagya Srivastava the
charge of secretary, Public Works Department. However, both the Centre and states must mowve beyond
sporadic and isclated appointments of domain experts into institutionalising lateral entry in senior positions.
Countries such as the US, Uk, Australia, Eelgium and the Metherlands appoint people to identified senior
positions in government from a wide pool that includes qualified personnel from all walks. That's the ideal
way to pick the right person for the job. As India rapidly globalises, many fields will also become increasingly
cornplesx, requiring competence developed outside the government. & person who has all through her career
looked after culture and human resources developrment may not be best equipped to become the finance
secretary just because she is an IAS officer. India should move away from a closed systern to an open systerr
The point really is to free the administrative machinery from the control of 'services'. Sensibly, the second
administrative reforms comrnission had suggested a shift from a career-based approach to a post-based
approach in the top tier of government jobs, but, unfortunately, it was not followed up. Civil servants must
compete with domain experts from outside government, apart from other cadres within, for senior positions.
The best way to go about this is to assign personnel to a corrumeon pool after some years of service in their
specific areas. Further promotions should be contingent on their making the cut for specific posts. India is
unable to spend its defence modernisation budget, says a report in this newspaper. Out of a current year
allocation of Bs 63,675 crore, 40 percent rermained unspent by end-December. This is bad not just for
upgrading defence capability but also for Indian research and development and for Indian manufacturing. It
15 time defence re-imagined its entire strategy for procurement, using a portion of its typically large outlays to
stirmulate R&D in universities and specialized labs and private companies, and to give Indian cormparnies, big
and small, a chance to become suppliers of parts and equipment on a scale rmuch larger than what obtains
today. The key is to create an Indian equivalent of the Americans' Darpa.
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